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1. Put the equation 𝑞 = 𝑟𝑠 in logarithmic form.

2. Write the expression ½ log x +1/3 log y – 2 log z as a single log statement.

3. Find the inverse of  the function y=7x +2

4. Find the inverse of  the function y=7x +2



Objectives

• Define the 6 Trigonometric Ratios

• Use Trigonometric ratios to find side lengths and angle measures.

• Use the properties of  the special triangles to find side lengths and angle 

measures.

Homework
• Problems on handout, All problems

• WBP 379 – 1-23 odd



Homework

Review

No homework last night!!!!





But first, what could these equations possibly be?

𝑥(𝑡) = (𝑅 + 𝑟)cos(𝑡) + 𝑝 ∗ cos((𝑅 + 𝑟)𝑡/𝑟)
𝑦(𝑡) = (𝑅 + 𝑟)sin(𝑡) + 𝑝 ∗ sin((𝑅 + 𝑟)𝑡/𝑟)

Click here for a hint...

Or here…

http://www.malinc.se/math/trigonometry/spirographen.php
http://www.mathplayground.com/spiromath.html


SohCahToaSo what do you remember about 

The Primary Trig Ratios



SohCahToa
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35

37

sin 𝑥 =

cos 𝑥 =

tan 𝑥 =

12

37

35

37

12

35

Find each of  the ratios listed below.



sin 𝑥 =
𝑜𝑝𝑝𝑜𝑠𝑖𝑡𝑒

ℎ𝑦𝑝𝑜𝑡𝑒𝑛𝑢𝑠𝑒

cos 𝑥 =
𝑎𝑑𝑗𝑎𝑐𝑒𝑛𝑡

ℎ𝑦𝑝𝑜𝑡𝑒𝑛𝑢𝑠𝑒

tan 𝑥 =
𝑜𝑝𝑝𝑜𝑠𝑖𝑡𝑒

𝑎𝑑𝑗𝑎𝑐𝑒𝑛𝑡

𝐜𝐬𝐜 𝒙 =
𝒉𝒚𝒑𝒐𝒕𝒆𝒏𝒖𝒔𝒆

𝒐𝒑𝒑𝒐𝒔𝒊𝒕𝒆

𝐬𝐞𝐜 𝒙 =
𝒉𝒚𝒑𝒐𝒕𝒆𝒏𝒖𝒔𝒆

𝒂𝒅𝒋𝒂𝒄𝒆𝒏𝒕

𝐜𝐨𝐭 𝒙 =
𝒂𝒅𝒋𝒂𝒄𝒆𝒏𝒕

𝒐𝒑𝒑𝒐𝒔𝒊𝒕𝒆

We also have three more trig functions

The Reciprocal Identities



For the triangle pictured below.  Find each six trigonometric ratios for angle z.

sin 𝑧 =

cos 𝑧 =

tan 𝑧 =

21

35

28

35

21

28

csc 𝑧 =

sec 𝑧 =

cot 𝑧 =

35

21

35

28

28

21



On page 25 of  you hand out do problem number 4



For the triangle pictured below angle Z is 65o.  Find the length of  the missing sides.

10
p

q

65o

Set up an equation with what you know

sin 65 =
𝑝

10

10 sin 65 = 𝑝

10 (0.9063) = 𝑝

9.06 = 𝑝



For the triangle pictured below angle Z is 65o.  Find the length of  the missing sides.

10
p

q

65o

Now you find the length of  side q.

cos 65 =
𝑞

10

10 cos 65 = 𝑞

10 (0.4226) = 𝑞

4.22 = 𝑞



On page 26 of  your hand out do problems 6-8



A

B

C

Triangle ABC is a right triangle.  Angle A is a 

90 degree angle. 

Given cos 𝜃 =
4

11
.  Find the other five 

trigonometric ratios.

𝜃

4

11

Use the Pythagorean Theorem 

to find the other side!

x2+42=112

x=10.25



On page 26 of  your hand out do problem 5



CSC Θ = 14/6

A

B

C

6

14
Use the Pythagorean Theorem 

to find the other side!

x2+62=142

x=12.25

Now create the other 5 ratios



On page 26 of  your hand out do problems 12-15



D

E

F

8

15

f=8 and e=15

Use the Pythagorean Theorem to 

find the other side!

82+152=x2

x=17

Now what?  How can we find 

the angles?



D

E

F

8

15

17
We’ll use the inverse trig functions.

sin-1 cos-1 tan-1

These functions return an angle 

measure given a corresponding 

ratio.

sin-1(8/17) = Θ

Θ = 28.07
Make sure you are in Degree Mode!



D

E

F

8

15

17
Θ = 28.07

Angle E is just 180 – 90 - 28.07 = 61.93 



On page 26 of  your hand out do problems 9 and 10



Work on your homework


